CD3370CP

[ Wi
&S0

CD3370CP
LA3370

{HCC 1.

: Vee=6.5~14V

: DIP16

2.1

14 : (0510} 5807123-5542 : 10510} 5803016



CD3370CP

2.2

31

3.2

1 Ve 9 GND
2 INcpm 10 DPY
3 ADJg, i FIL,
4 CON; 12 FIL,
5 ouT, 13 T
6 OUTRr 14 FIL;
7 CONyc 15 FIL,
8 CONsy 16 VCO
+ Tamp= 25T
Vce 16 \Y/
LED I amp 40 mA
Po 520 mw
Tamb -20 ~70 T
Taqg -40 ~125 T
v Tamp= 251, Vcc=10V! f =1kHz
lcco V, =0 21 27 mA
V| =300mV:
SEP L+R: 90% : 10% 40 50 dB
) THD V, =300mV 0.05 0.2 %
\'A L+R : 90% : 10% 60 85 120 mV
L-R: 90%: : 10%
Vo V, =300mV 140 200 | 280 mV
V|, =300mV; : 10%
SNC ATTsnc Vg =0.6Vs L-R: 90% -85 | -3.0 | -0.3 daB
V, =300mV. : 10%
SNC Vosve |y =01v,  L-Re 90% > | MY
VizsomVe - x 1% 150 | 60| -05 | dB
V7 =0.6V: L-R: 90%
HCC ATThcc
V, =300mVs : 10% 20 0 dB
V; =1V, L-R: 90% '
V| =300mV- : 10%
CB L+R: 90% 0.5 1.5 dB
V, =300mV: L+R: 90% 0
( THD . 10% 0.05 0.2 Y%




CD3370CP

CR V, =30mV { ) +3 %
V,=300mV: L+R: 90%
S/N . 10% 70 78 dB
R1 20 k£
V, =300mV L+R: 90%
SCA . 10% 80 dB
THD =1%:. L+R: 90%
Vimax . 10% 700 800 mV
VCO Vstop 6.8 \Y
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